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Cuadro 7 (continuación 2)/Table 7 (continued 2)
Costa Rica: tablas abreviadas de mortalidada

 Costa Rica: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.079 0.074  100 000  7 443  94 563 0.918 b 6 461 491 64.6
1 4 0.006 0.023  92 557  2 098  364 375 0.983 c 6 366 928 68.8
5 5 0.001 0.006  90 460   548  450 928 0.995 6 002 553 66.4

10 5 0.001 0.004  89 912   342  448 703 0.995 5 551 625 61.7
15 5 0.001 0.006  89 570   529  446 526 0.993 5 102 922 57.0
20 5 0.002 0.009  89 041   761  443 299 0.991 4 656 397 52.3
25 5 0.002 0.010  88 279   884  439 187 0.989 4 213 097 47.7
30 5 0.002 0.011  87 395   993  434 495 0.987 3 773 911 43.2
35 5 0.003 0.014  86 403  1 250  428 888 0.983 3 339 416 38.6
40 5 0.004 0.020  85 153  1 686  421 549 0.977 2 910 527 34.2
45 5 0.006 0.027  83 467  2 269  411 662 0.967 2 488 978 29.8
50 5 0.008 0.040  81 198  3 232  397 909 0.950 2 077 316 25.6
55 5 0.013 0.061  77 966  4 781  377 876 0.922 1 679 407 21.5
60 5 0.020 0.096  73 184  7 013  348 391 0.878 1 301 531 17.8
65 5 0.033 0.151  66 172  10 001  305 855 0.818  953 140 14.4
70 5 0.049 0.219  56 170  12 296  250 111 0.746  647 285 11.5
75 5 0.070 0.298  43 874  13 075  186 682 0.648  397 174 9.1
80 5 0.110 0.429  30 799  13 221  120 941 0.512  210 492 6.8
85 5 0.173 0.592  17 578  10 405  61 876 0.361  89 551 5.1
90 5 0.266 0.754  7 173  5 409  22 343 0.221  27 676 3.9
95 5 0.393 0.880  1 764  1 553  4 940 0.074 d  5 333 3.0

100 ω 0.539 1.000   212   212   393   393 1.9
Mujeres/Females

0 1 0.055 0.052  100 000  5 241  96 098 0.940 b 6 846 816 68.5
1 4 0.005 0.019  94 759  1 801  374 118 0.986 c 6 750 717 71.2
5 5 0.001 0.005  92 958   440  463 691 0.996 6 376 599 68.6

10 5 0.001 0.003  92 518   265  461 929 0.997 5 912 909 63.9
15 5 0.001 0.004  92 253   332  460 436 0.996 5 450 980 59.1
20 5 0.001 0.005  91 921   479  458 407 0.994 4 990 544 54.3
25 5 0.001 0.007  91 442   650  455 584 0.992 4 532 136 49.6
30 5 0.002 0.009  90 792   839  451 861 0.989 4 076 552 44.9
35 5 0.002 0.012  89 953  1 071  447 086 0.986 3 624 691 40.3
40 5 0.003 0.016  88 882  1 401  440 907 0.981 3 177 605 35.8
45 5 0.004 0.022  87 481  1 915  432 618 0.973 2 736 697 31.3
50 5 0.007 0.032  85 566  2 743  420 972 0.960 2 304 079 26.9
55 5 0.010 0.049  82 823  4 058  403 970 0.937 1 883 107 22.7
60 5 0.016 0.077  78 765  6 069  378 654 0.901 1 479 137 18.8
65 5 0.026 0.123  72 696  8 906  341 216 0.844 1 100 483 15.1
70 5 0.043 0.194  63 790  12 363  288 042 0.762  759 267 11.9
75 5 0.068 0.293  51 427  15 066  219 469 0.653  471 225 9.2
80 5 0.108 0.423  36 361  15 370  143 379 0.518  251 756 6.9
85 5 0.170 0.584  20 991  12 265  74 292 0.368  108 377 5.2
90 5 0.261 0.747  8 726  6 515  27 341 0.227  34 086 3.9
95 5 0.385 0.874  2 210  1 933  6 220 0.078 d  6 745 3.1

100 ω 0.528 1.000   277   277   525   525 1.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


